ROROPROPROVROROPOROVROROPOROROPOROROROPROROVROROPROROVROPROPOROROPOROROROROROROPNOPROROROROROROROROROROROPRORORORORORORORORO

9 8

ROROROROPOPOAORORORVROVROVROVROROROROVROVROROROVRVROROROROPOEVINOROROROVROVROROPOROROROVROROROROROROVROROROPOROROVROVROROR®



t JPU

TR OB
PR+ B

T o %
SO

3 R B X

3B

AR LD A BRBFATRNLD AL T3 F > AR
s

3 A
BRI R PIEL . pEEH T

p TIAPREM%

£ pa

poxeg

BN PRIEA B FREA R w g o A U P ow T i s oo m g b >
 F PTFR A o

B AR

—_— N II‘:ZE_ V—JIJ

I YA

53 %




& o

fort

# 13% 1 %% 230 (H20
m21-~30
b 031~40
O041~50
b B51-~60
}% 38 % 06 1
port 2
= \,F’/l'j,\
iR o
— AL R K
O
|
byt m
P oprd pre O
O
o |
Ipl%‘%'ﬁ
22 % 1]
f‘lf‘/ﬁ\#—/‘ﬁ O
IR R E
His
BB ko B2 e %5 Sl - A KRB S
2 SN % 7 LG MATSRLE F ik F AL - A R RS

Boo Fpt oo R T e F Pl AR A 2 A AT R E 2 H RE P



=L >

DRt B R ed o0 X2 R B R LB AR e Ak

BEYE -

ACBRILARADAE S F N
N AREREBRT R A MA LA A A AEAS L TR TR T
LT Ty I RRe s B9 ER T, AREP RS BN R

fg‘lﬂ, » FLA A 3|])\€J.’g< ,ﬂ,g%‘lu;ag—l’-,: Iﬁﬁﬁﬁf{ F%%J, ‘s = 17 B a—_J{-‘T:‘;

Lk
B RTINS S talis BEEES o

S oRAREALAD AL ()0 k%

BAEBEPP R L EME T
R RE G

B L E TR R R (dorid s ) 1
TREFSIE BRI ARTE 9% %

-~

9% -

962+ Jort i Lk B %
AR AT FE BN PA WP LIPR? 0 4 i 0 -
L Rkl Ogdnr » 4 i £

SRR L BRI P R AT Y ek

SR E A iRk
AT kg KA R R A8 R 4 | R T YT %

05 7 A P4y L

7

C3P TR R R

i

‘/‘]}F/J]}(I%'E‘E‘Aﬁéml”\ (+ ’I§> )]}%\B l_"i'»;:sf; : A ;r,J.JIF‘]‘ifili‘m‘ﬁ‘\

B ( ) A FH AT PUEE T B A R e s ok R
FRA 7 KB BRI R L AR o

NERETHRLAG

Y%or&E L E Qdpt > 2 G ARE BN o BT E K d AR

R es g s e i % R hF %

o

B ;g 'ﬂzf‘yiiiﬁ

AEE BTV R B R 2 AN A

23K A SORIIRI R & IR %



B e

EREA

A7 P

PRIER7 GRS foes fas

Bd A
T LW
ﬁt“%@l‘i%‘z—‘ﬁ;%- RS EZBEEIME -
FAHERI {FET BRI T T
B
PR A% (% HF
Z~AAFELRHA
dASREALRET A P LEFIARF BRI RS
Fored o RRLRCEARDEE LR LD Blen FIRIE ¥y AR
FREH 3T iEd ke A @3 A2 /@2 & p|F .13@3]4 T2 G
BEBFE S AN FR {FPHLEE R RV e B IR
FrF g 0 MHpEL o
KRR 5 8% kF o VRN ASAIRBRE S 2 2 AP AEE
B EE R 0 A ETA REH B LFT B F T - S A flans S RE > T
B EAm 2 o Abhane kN RJRGE 0 E TRV BT Ry PR A o



SN

=

Wig

i

%R

3 EAT A ---------




AMIRDABBERILAR

100. 00% 100. 00% 100. Ad®% . 0100% . 00 %
— 99. 3
100.
97.84 w
98 .
96 .
9 4 .
9 2.
90 .
Lo yidr A3
98. 40%
100.,00 9
9 8. 0 %
96. DO X% 92. 65%
94. 00 %
9 2. 0 %
90.
1 2




it =




